i 2529

, 2931,

. 2931,

Batten, Rw. ~ Mortality Table Construction — Prentice-Hall, Inc. England Cliffs,
Newjersy, 1978

Bowers, NL.  Actuarial Mathematics  The Society of Actuaries, 1986,

Elandt-Johnson, Rc. and Johnson, NL Survival Models and Data Analysis
New York : John Wiley & Sons, 1981,

Hogg, Rv. and Klugman, S.A. Loss Distributions New York : John Wiley & Sons,
1984,

Jordan, c.w.  Life Contingencies  The Society of Actuaries, 1975,

Miller, R Survival Analysis — New York : John Wiley & Sons, 1981,

Nelson, . Applied Life Data Analysis  New York :John Wiley & Sons, 1982,

173



FwraNnsaluniingas
CHuLALONGKORN UNIVERSITY



25
26
2
28
29
30
il
3
33
34
35
36
37
38
39
40
y
42
43
4

gx

0.0012330
0.0012735
0.0013288
0.0013895
0.0014560
0.0015289
0.0016089
0.0016965
0.0017927
0.0018980
0.0020136
0.0021402
0.0022791
0.0024313
0.0025982
0.0027812
0.0029818
0.0032017
0.0034427
0.0037070

= 10

k
0.002467522
0.002548623
0.002659367
0.002780933
0.002914122
0.003060140
0.003220391
0.003395881
0.003588618
0.003799607
0.004031260
0.004284987
0.004563402
0.004868521
0.005203162
0.005570149
0.005972509
0.006413673
0.006897279
0.007427776

c =1.08

B
0.001186894
0.001225904
0.001279173
0.001337647
0.001401712
0.001471947
0.001549029
0.001633441
0.001726148
0.001827636
0.001939062
0.002061107
0.002195026
0.002341790
0.00250275%
0.002679278
0.002872816
0.003085018
0.003317636
0.003572809
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45
4
47
48
49
)
ol
i
53
o4
5
56
ol
58
59
60
bl
62
63
64
69

0,
0.0039966
0.0043141
0.0046621
0.0050436
0.0054617
0.0059199
0.0064221
0.0069724
0.007575%
0.0082364
0.0089605
0.0097538
0.0106230
0.0115752
0.0126181
0.0137604
0.0150114
0.0163813
0.0178812
0.0195231
0.0213203

0X

qx

l

k
0.00800921%
0.008646865
0.009346003
0.010112123
0.010953339
0.011874984
0.012885620
0.013993641
0.015208679
0.016541013
0.018001773
0.019603359
0.021359653
0.023285428
0.025396768
0.027711903
0.030250422
0.033033914
0.036086000
0.039432386
0.043101721

Actuarial M athematics

1.0

176

c =1.08

B
0.003852485
0.004159198
0.004495488
0.004864286
0.005268627
0.005711945
0.006198067
0.006731033
0.007315474
0.007956335
0.008658970
0.009429344
0.010274132
0.011200442
0.012216010
0.013329606
0.014550650
0.015889527
0.017357601
0.018967234
0.020732208

2A

560-961
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£*****************#********************************************************1

TR

MAIN PROGRAM
ESTIMATING MORTALITY PROBABILITY

FOR

INCOMPLETE LFE INSURANCE DATA

e
e
*C

***C

0**************************************************************************0

COMMON/ DOME/ T(200) 1T1(1000)
| SEED/ IX
| PARAIIAK AN, B, C
| PARA2/ XKO TXNO , B0, CO
| DTAL NM(8), IEQ)
| DTA2I M, K
| DTA3/ SUMT
[ MORT/TQX , 0X1,0X2 ,0QX3
IX 881

IA = 25

TOX = 0.0012330
NM(1) = 30

NM(2) = 50

NM(3) = 70

NM(4) = 100

NM(5) 300

NM(6) : 500

NM(7) = 700

(8)
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DO 5 ID=1,2
IF (ID EQ. 1) THEN
AK = 0002467522
AN = 10
WRITE (6,10)
10 FORMAT (25X [ *** WEIBULL DISTRIBUTION ***1)
ELSE
B = 0.001186894
c =138
WRITE (6,15)
15 FORMAT (25X L *** GOMPERTZ DISTRIBUTION ***)
ENDIF
WRITE (6,20) 1A X, TOX
20 FORMAT (23X 1'AGE' 112 L'SEED", 15, " ox = "1FI10.)

WRITE (6,25)
35 FORMAT (80
¢ BXCUNC 26,100, CLS 10N L 110X IMLE', 10X,
¢ 0X 1'BAYESTEX 13(% 14X 10X 15K 11, 13X L'RAPE' 14X)80C-))
M= 0
SUMT = 0.0
D0 29 J =18
F () EQ. 1) AND. (7 EQ. ¢ )THEN
E() = 30
ELSE IF (1 £Q. 2 ) OR. (J .£Q. 3 ) THEN
E() = 20
ELSE IF () LE. 7) OR. (1 GE. 5 ) THEN
E() = 200
ELSE

IE()) = 300



ENDIF

19 CONTINUE
D07 1 =18
M) = 00
SUM20) = 0
SUM30) = 0
] CONTINUE
D0 30 1= 1500
D035 K= 13

F (D £Q. 1) THEN
CALL GENTWE]
CALL FINDQXWB
FLSE
CALL GENTGOM
CALL FINDQXGP
ENDIF
SUMKK) = SUML(K) + QXL
SUM2(K) = SUM2(K) + QX2
SUM3(K) = SUM3(K) + QX3

35 CONTINUE
30 CONTINUE
D040 K= 18
SBKKK) = SUML(K)/500.
SBK2(K) = SUM2(K)/500.
SBK3(K) = SUM3(K)/500.
ELK) = SBKL(K) - TOX

EK) = SBK2(K) - TOX
E3(K) = SBK3(K) - TOX
RAPEKK) = ABS(EL(K)*100TQX

179
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RAPED(K) = ABS(EZ(K)*LO0TQX
RAPE3(K) = ABS(E3(K))*100QX
WRITE (645) NM(K) 1SBKI(K) LRAPE (K) 1SBK2(K) , RAPE2(K) 1SBK3(K)
RAPESI(K)
15 FORMAT (X, 141X, 3( LFL0.7 LIX,T ,FIL4))
0 CONTINUE
WRITE (5,50)
50 FORMAT (80(+) )
5 CONTINUE
5TOP
END
e STOP MAIN PROGRAM Ao

0*****************************************************#********************0

Co* FIND THE FUTURE LIFETIME UNDER WIEBULL DISTRIBUTION e

0**************************************************************************0

SUBROUTINE GENTWE]
COMMON/ DOME/ T(200) 1T1(1000)

| SEED/ IX

| PARALIAK AN B, C

| PARA/ XKO 1XNO , B0 1O
' | DTALI NM(3), IE@)

| DTA2 W, K

| DTA3 SUNT

I MORTITQX  0X10X2 , QX3
EL = IE(K

DO 50 1= 1, El



2 =

RAND(IX)

WUt = ALOG(U2)

ANK =
ANL =
M =

(AN+DJAK
LI(AN+1)
(ANKFUUL)*ANL

181

FTTL GE. 1.0) THEN
M = 10
Til) = 10

TI) = TTI
TH) = 7L
ENDIF
SUMT = SUMT + TT1
50 CONTINUE
RETURN
END

0******************#*************#*****************#***#****#**************O

¢***  FIND THE FUTURE LIFETIME UNDER GOMPERTZ DISTRIBUTION R

0**************************************************************************0

SUBROUTINE GENTGON
COMMON/ DOME/ T(200) 1TK1000)
' | SEED/ IX
| PARAL/AK AN, B¢
' | PARA2I XKO L XNO 180 1C0
| DTALN M@)IH&
| DTA2I W,
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' | DTAYI SUMT
' I MORT/TQX , QX1 , QX2, 0X3
EL = IE(K)
D0 55 1= 1, [
2 = RAND(X)
WUt = ALOG(U2)
UC = ALOG(C)
UU2 = UCHUULB
buuL = L- U2
UU3 = ALOG(UUUI)
T = UU3IC
IF cm GE. 10) THEN
M = 10
Til) = 10

TI) =TT
THM) = TT1
ENDIF
SUMT = SUMT + Tl
50 CONTINUE
RETURN
END

Co FIND MORTALITY PROBABILITY UNDER WEIBULL DISTRIBUTION — **¢C
WMMMMM%MMMW

SUBROUTINE FINDQXWB



COMMON/ DOME/ T(200) , TK1000)
| SEED/ IX

| PARAII AK AN B¢
' | PARAZI XKO , XNO 180, €O

| DTAL NM(8), IE(3)
* | DTA2I M, K
* [ DTA3/ SUMT
' | MORTITQX , 0X1 , QX 2,03

Il CALL DETERWEI
2 = 1+l
IF (M EQ.0) THEN
0X1 = 0.
0X2 = 0,
0x3 = 1-(FLOAT (5000 + NM(K) )/ FLOAT (5001 + NM(K) ))
GOTO 61
ENDIF
IF ({XNO .GT. 50 ) .0R. (XNO LT.-50 )) THEN
UK = UK+ 1
IF (UK EQ. 50 ) THEN
WRITE (6,31)
31 FORMAT (' *** TOO LONG EXECUTION ***)
STOP
ENDIF
CALL GENTWEI
G0TO !
ENDIF

SUM1 = 0.



4

il
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SUM2 = o0
SUM3 = 0.
SUM4 =0,
DO 41 =1, M

SUML = SUML + T((XNO +
SUM2 = SUM? + ALOG( T() J¥( T()**(XN0 + 1))
SUM3 = SUM3 + ALOG( T())
SUM4 = SUM4 + ((ALOG(T()) )2 ) T(P*(XNO + 1))
CONTINUE
XL = (NM - M)+ SUM
GL = FLOAT (MUXKD - XLI(XNO + )
611 = -FLOAT (M)XK0#2
612 = XUNO + )#*2 - SUMIXNO + |
62 = SUMS3 + XKOOXL/(XNO + 1)%¥2 - XKO*SUM2IXNO +
620 = DEXKORXLXNOSL#3 + 26XKO*SUMI(XNO+L)¥*2 - XKO*SUMAIXNO#L)
BBl = (62*G12) - (61*62))
BC = (611%622) - G12%%2
F (BC £Q. 0.0) THEN
WRITE (5,51)
FORMAT ( *** THE DENOMINATOR EQUALS TO ZERQ. *#*)
STOP

ENDIF

BB - BBI/BC

CCl = (GI*G12) - (G2*GLL)
cc = CCL/BC

XK = BB + XK0

XN = cc + XN(

F ((ABS (BB) .LE. 0.0001) AND. (ABS (CC) LE. 0.0001) ) THEN

QX1 = FLOAT (M)/NM(K)



0X2 = 1-EXP (-XKIXN + 1))
BETA = -1/ALOGN - QXJ)
0X3 = 1-((BETA + SUMT) [ (BETA + + SUMT) )**(M+1)

6070 61
ELSE
F (ABS (88) LE. 0.0001) THEN
XKO = XKO
ELSE
XKO = XK
ENDIF
F (ABS (CC) LE, 0.0001) THEN
XNO = XNO
ELSE
XNO = XN
ENDIF
6070 2
ENDIF
Bl RETURN
END

0*************************************************************************0

Cc*  FIND MORTALITY PROBABILITY UNDER GOMPERTZ DISTRIBUTION — ***¢

0*************************************************************************0

SUBROUTINE FINDQXG?P
COMMON/ DOME/ T(200) , T1(L000)
' | SEED/ IX
' | PARALIAK AN B, C
| PARA2I XKO LXNO , B0, CO
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[ DTA | NM(8), IE(8)
| DTA2 M, K
| DTA3/ SUMT
| MORTITQX , QXL , QX2,0X3
K = 0
2 = 0
22 CALL DETERWEI
32 = )+
F (M EQ. 0) THEN
0X1 = 0.
0X2 = 0.
0X3 = L-(FLOAT (5000 + NM(K) )/ FLOAT (5001 + NM(K) )
GOTO 72
ENDIF
IF ((CO .GT. 10 ) .OR. (CO LT. 0 ).0R. (CO .EQ. 1)) THEN
CALL GENTGOM
60TO 22
ENDIF
IF ( .EQ. 50 ) THEN
K = K+ 1
F (K EQ. 50 ) THEN
WRITE (6,42)
42 FORMAT ( *** TOO LONG EXECUTION ***)
STOP
ENDIF
CALL GENTGOM
60TO 2
ENDIF

SUM1 = 0.
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SUM2 = 0.
SUM3 = 0
SUM4 = 0
D0 52 1= 1, W
SUML = SUML + CO¥T(l) - L
SUMZ = SUM2 + T(I*(CO*( T0)- 1))
SUM3 = SUM3 + TOW T()-1) CO¥*(T0)-2))
SUM4 = SUMY + T0)
CONTINUE
XL = (NM - MJH(CO - 1) + SUMI
X2 = (NM - M)+ SUMY
61 = FLOAT (M)/B0 - XL/ALOG (C0)
611 = -FLOAT (M)/B0%2
AGL2 = CO*ALOG (C0)**2
612 = XUAGI2 - X2ALOG (CO)
62 = SUNAICO * BI*XLIAGL2 - BO*X2IALOG (C0)
AG22 = BO/CO¥ALOG (CO)2
3622 = 2*BOI( (CO**2)*ALOG (C0)**3 )
620 = -SUMAICO™ - (AG2+BG2YMXL + 2*BO*X2IAGL - BO*SUM3IALOG(CO)
3B1 = (62 * G12) - (61 * 622)
BC = (611 * 622) - 612+
F (BC EQ. 0.0) THEN
WRITE (6,62)
FORMAT 0 *** THE DENOMINATOR EQUALS TO ZERO, ** )
§TOP
ENDIF
38 = BBI/BC

CCl = (GL*G12) - (G2*G11)

cc = CClBC



XB

BB + BO
xc = cc+Q
IF ( (ABS (BB) IE. 0.0001) .AND. (ABS (CC) LE. 0.0001) ) THEN
QXL = FLOAT (M)INM(K)
QX2 = 1-EXP (-XB*(XC - L)/ALOG(XC) )
BETA = -1/ ALOGG - QXI)
0X3 = 1-((BETA + SUMT) [ (BETA + L + SUMT) ) ** (M+1)

60T 72
ELSE
F (ABS (BB) LE. 0.0001) THEN
B0 = B
FLSE
B0 = XB
ENDIF
F (ABS (CC) LE. 0.0001) THEN
€0 = €0
ELSE
00 = XC
ENDIF
60T0 32
ENDIF
12 RETURN
END
pHer DETERMINE THE INITIAL VALUES NO AND KO el

CFH FOR NEWTON - RAPHSON METHOD e

0**********************#*******************#*#***#************#***#**#*****0



13
3

23

33

SUBROUTINE DETERWEI

COMMON/ DOME/ K200) LTK1000)
| SEED/ IX
| PARAL/AK AN B, ¢
| PARA2/ XKO , XNO , BO 1CO
| DTALI NM(8), IE(8)
| DTA2I'M, K
| DTA3/ SUMT
[ MORT/ TQX , QX1 L0X2 L0X3
NML = NM(K) -
DO 3 1= 1, NMI
] = 1+1
NM2 = NM(K)
DO 13 J = [}, NM2
IF(TL(i) .GT. T1())) THEN
TEMPI = TL{)
TH{) = TKJ)
TL() = TEMPI
ENDIF
CONTINUE
CONTINUE
K =0
K= K+1
F(JK.EQ. 1000) THEN
WRITE (6,33)
FORMAT ( THE DATERMINATION 1S TOO LONG )
ENDIF
IF (NM(K) .GE. 500) THEN
AMUL = 1000
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ELSE
AMUL = 0000
ENDIF
43 71 = RAND(X)
NL = INT (Z1*AMUL)
IF ((NL .GT. NM(K) ) .OR (NI .EQ 0) GOTO 43
53 72 = RAND(X)
N2 = INT (Z2*AMUL)
IF ((N2 .GT. NM(K) ) OR (N2 .EQ 0) .OR (N2 .EQ. ) GOTO 53

FTN1

FLOAT(N1 )/FLOAT(NM(K))

FTN2

FLOAT(N2)/FLOAT(NM(K))
XDl = ALOG( 1- FINL)

XD2

ALOGO - FTN2)

XD = XDL/XD2

GXD = ALOG(XD)

ST = TL(N1)/n(N2)

XT = ALOG(ST)

XNO = GXDIXT - 1

IF ((XNO IE. 0) .OR (XNO ,GE. 100) GOTO 23
TN = TI(N2)*(XNO + 1)

XKO = -XD2*(XNO + D/TN

IF ((XKO LE. 0) .OR (XKO .GE. 100) GOTO 23
RETURN

END

EA KKK A KA AR KA AR I A AR A I AR A I AR I A AR KA AA KA AA KA AA XL AA XA A I A A I A A A I A AR XA LA X T LA XK

CHr** DETERMINE THE INITIAL VALUES BO AND QO ***C

C*r*xx FOR NEWTON - RAPHSON METHOD *rEC

O************* ***************************************0
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SUBROUTINE DETERGOM
COMMONI DOME/ T(200) , TK1000)

* | SEED/ IX

* | PARALIAK AN , B, ¢

x | PARA2/ XKO , XNO 1BO | co

* | DTALINM(8), IE(8)

* | DTA2/ M, K

* | DTA3/ SUMT

* | MORT/TQX, 0X1,0X2,0X3
MAX = 500

NML = NM(K) - 1
DO 4 1= 1, NMI
= 1+1
NM2 = NM(K)
DO 14 ) = 1}, NM2
F(TL() .6T. TKJ) ) THEN
TEMPI = Till)
THl) = TKJ)
TKJ) = TEMPI
ENDIF
14 CONTINUE
4 CONTINUE
K =0
K= JK+1
IF (JK EQ. 1000 ) THEN
WRITE (6,34
34 FORMAT (' THE DETERMINATION 1S TOO LONG 1)

STOP
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5

ENDIF
F(NM(K) (GE. 500) THEN
AMUL = 000
ELSE
AMUL = 10000
ENDIF
21 = RAND (X)
NL = INT (ZL*AMUL)
F (N1 GT. NM(K) ) OR. (NI EQ. 0).0R, (NL LT.50)) GOTO 44
20 = RAND (X)
N2 = INT (Z2°AMUL)
IF (N2 GT. NM(K) ) OR. (N2 £Q. 0).OR. (N2 GE. N1 )) GOTO 54
R = TINITLNY)
F (R GE. 1) 60TO 4
FINL = FLOAT(NL)FLOAT(NMK))
FTN2 = FLOAT(N2)FLOAT(NMIK))
XKL = ALOG (1 - FTNY)
XK2 = ALOG (1 - FTNY)

XK = XK1/XK2

SR = IR

SRL = UL -R)

X0 = (XK*R)**(SR1)

TOL = 0.0001

IF( (XK GT. L) AND. (XK LT. SR) ) THEN
Al = 0.0
Al = X0
DO 64 1= 1, MAX

0= AL+ (A2-AL)
B = XKF(PHR) - p + 1- XK
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= (A2-ADI2
F ((FP Q. 0) OR. ( LT.TOL)) THEN
HI = ALOG (P)IT(NL)
C0 = EXP (HI
F ({0 IE. ) .OR. (O GE. 10)) GOTO 2
H2 = COMTING) - 1
B0 = -XK2*HLMH?
F ((80 LE.0) OR. (B0 GE.10)) GOTO 24
60TO 114
ENDIF
FAL = XKHAL**R)- AL + 1- XK
P FALEP
F (6T, 0) THEN
AL =P
ELSE
AL =P
ENDIF
6 CONTINUE
WRITE (6,74) MAX

L FORMAT ( METHOD FAILED AFTER NO ITERATIONS, NO = ' 15)

ELSE IF (XK ,GT. SR) THEN
XI = x0+1
84 FXL = XK¥(XL**R) - XL + 1- XK
IF (FX! .GT.0) THEN
XI= XU+ 1
GOTO 84
ENDIF
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D0 94 | =1, MAX
D= AL + (A2 - Al
FP= XK*P**R)-p+ L-XK
D = (A2-ADI2
IF ((FP EQ.0).0R.{ . .TOL)) THEN
HL = ALOG(P) ITL(NT)
CO = EXP(HI)
IF ((CO .LE. L) OR, (CO .GE. 10)) GOTO 24
H2 = CO**TL(NZ) - !
BO = -XK2*HL/H2
IF ((BO .LE. 0) .OR. (BO GE. 10) GOTO 24
GOTO L4
ENDIF
FAL = XK*AL*R) - Al + 1-XK
F = FAL*FP
IF (F .GT. 0.) THEN
AL =
ELSE
AL =]
ENDIF
94 CONTINVE
WRITE (6,L04) MAX
104 FORMAT (' METHOD FAILED AFTER NO ITERATIONS ,NO = 1105)
ENDIF
114 RETURN
END

194
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cx** FUNCTION RANDOM (0,1) *rxC

FUNCTION RAND (IX)

X = IX*16807

F (X LT.0) IX = IX+2147483647 + 1
RAND = IX

RAND = RAND*0.465661F - 9

RETURN

END
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